
 k"jf{wf/ tkm{ cf=j= )&$÷)&% 

1 ljb't lj:tf/ ltDgfxL j8f g+= ! 1000000.00
2 ;8s lgdf{0f sfnLvf]nf b]lv kf]vl/of j8f g+= @ 1000000.00
3 vl;jf; b]lv xl8of hf]8\g] df]6/ jf6f] j8f g+= # 1000000.00

4
l;+rfO{ Ogf/ lgdf{0f - u/fF; / dem'jf j:tLsf] nflu_ j8f g+= $

1000000.00
5 l;dfgk'/, sNof0fk'/, lu4fj/ s'nf] bfFofjfofF 9nfg j8f g+= % 500000.00
6 wf]sfGb|f, ef]6] vx/] jfFw lgdf{0f j8f g+= % 500000.00

7
RofËf, /fhfjf;, b]ljwfk vf=kf= kfO{knfO{ :t/pGgtL j8f g+= ^ 

500000.00
8 tfjfvf]nf glb lgoGq0f -b]ljwfk, x8}of jlnof_ j8f g+= ^ 500000.00
9 pRr df=lj= jfn lgdf{0f j8f g+= & 500000.00

10
ljh'nL kf]n -/fO{6f]n, zfGtL6f]n, l;Dn] %) s]=le= 
6«fG;kmd{ / kf]n tf/ lj:tf/

j8f g+= & 

500000.00

11
O{nfsf k|x/L sfof{no b]lv jfx'gL6f/ ;8s ;Dd ;8s 
:t/pGgtL tyf ;8s gfnf

j8f g+= * 

500000.00

12
jfx'gL6f/ ;8s b]lv ;u/dfyf jf]l8{Ë x'Fb} p=p=jf= b]lv 
;]jf s]Gb|sf] k"j{sf] sNe6{ ;Dd 

j8f g+= * 

500000.00
13 Onfsf k|x/L sfof{no 3]/fj]/f j8f g+= * 

14 d?jf ;8s lj:tf/ j8f g+= ( 500000.00

15
ltlqaf]6 b]lv eujfgk'/ uj'jf ;Ddsf] ;fljs hfg] af6f] 
:t/pGgtL 

j8f g+= ( 

500000.00

16
e'Ns] df=lj= b]lv b'An] vf]nf ltgtn] ;Dd df]6/jaf6f] 
:t/pGgtL 

j8f g+= !) 

500000.00

17
s[lif ;8s e'Ns] sljtfsf] 3/af6 bzlju] 5fp/L 
vf]nfjf6 nfnk'/ ;Dd hf]8\g] af6f] lgdf{0f 

j8f g+= !) 

500000.00
18 ef]n]{ j8f g+= !! 500000.00
19 ltgtn] sNe6{ j8f g+= !! 500000.00
20 of]hgfx?sf] ;j]{ 125800.00

11125800.00

k|j{wfgfTds  tkm{ 

1 Ogf/ lgdf{0f rf}kmfn -% yfg_ j8f g+= ! 200000.00
2 Ogf/ lgdf{0f j]n;f]t sfnLvf]nf -!) yfg_ j8f g+= @ 100000.00
3 t6jfFw 6«fG;kmd{ ePsf] 7fpFdf j8f g+= @ 100000.00
4 vl;jf; PSn];Nnfx df]6/ jf6f] j8f g+= # 200000.00
5 gf/fË]vf]nf afw lgdf{0f j8f g+= $ 200000.00
6 jlnof vx/] lgoGq0f lu4j/ j8f g+= % 100000.00
7 dl6of/L / wf]Gb|f vx/] j8f g+= % 100000.00
8 /fhfjf; jf6f] u|fe]n -/fhfjf;_ j8f g+= ^ 100000.00

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

hDdf ah]6

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot



9 vfg]kfgL tyf gx/ -x8}of, jlnof_ j8f g+= ^ 100000.00
10 sNe6{ j]tfxf l;Dn] -cw'/f] k'/f_ j8f g+= & 100000.00
11 /fdhfgsL dGbL/ jh|sGof j8f g+= & 100000.00
12 lzj dlGb/ wd{zfnf lgdf{0f j8f g+= * 100000.00

13
z'esfdgf rf]s / ldt]/L 6f]n ljsf; ljrnfO{ 9n gfnf 
lgdf{0f 

j8f g+= * 

100000.00
14 d?jf sf7] k'n dd{t j8f g+= ( 100000.00

15 d?jf l;+rfO{ -d?jf k'n 5]p_ l;dn6f/ j8f g+= ( 100000.00
16 /f0ff 6f]n b]lv afx'gLvfl8 hfg] af6f] j8f g+= !) 100000.00
17 jgv]taf6 l;;f3f/L / vfl8vf]k hf]8\g] af6f] j8f g+= !) 100000.00
18 ef]n]{ l/Ë/f]8 j8f g+= !! 200000.00
19 Ogf/ lgdf{0f l;dn6f/ 10 50000
20 ljB't lj:tf/ l;:g]/L qmdfut 1 100000
21 l;;f3f/L l/Ë/f]8 glhs Ogf/ lgdf{0f 10 50000
22 lzjdfu{ hf} jf/L ;8s dd{t 9 100000

23 jfO{kf; b]lv dxfb]j dlGb/ hfg] ;8s :t/ pGgtL
ltlqaf]6 

9 50000

24 cd[t tfdfª Knf]6 b]lv tNnf] s6f/L hfg] ;8s
:t/pGgtL 

7 200000

25 j[Qlrq 50000
26 y];/ km\nf]/ lgdf{0f 6 100000
27 Ogf/ lgdf{0f tf/f3f/L 6 100000
28 RofËf Ogf/ dd{t 6 50000
29 Kn]6 kmd{ lgdf{0f du/6f]n, nfld5fg] 6f]n 4 100000
30 ;'zf;g k|j4{g 25000
31 ;"rgf s]Gb| Joj:yfkg 50000
32 ;f=;'=j'n]l6g k|sf;g 50000
33 cfof]hgf ;DefJotfsf] cWoog 100000

34 gu/kfnLsfnfO{ jftfj/0f d}qL t''Nofpg] sfo{ 100000

35 dd{t ;Def/ sf]if 50000
36 ejg lgdf{0f dfkb08 cg';f/sf 8sdL{ tflnd 250000

37 cost effective housing sf nflu hgzQmL 
pTkfbg

50000

38 ;fj{hgLs kl/If0f÷;fdflhs kl/If0f 75000
39 s/bftf lzIff 50000
40 Go'=;=sf=''; tfnLd 100000
41 /fhZj ;DefJotf cWoog 50000

42 e'sKk lbj; tyf ;'/lIft ejg lgdf{0f ;r]tgf 
sfof{qmd

50000

43 /fhZj k|f0fnL sDKo'l6s|Lt ug]{ 50000
44 ;f=lg=;f= 242200
45 l/;f];{ DoflkË 100000
46 ;fj{hgLs ;'g'jfO{ 50000
47 ljlgod tof/L 100000



48 hgr]tgf kmf]xf]/ Joj:yfkg 200000

49 j[If/f]kg÷jftfj/0f ;+/If0f÷hnjfo' cg's'ng 50000

50 jftfj/0f ;+/If0f sf]if 50000
51 a;kfs{sf] kfgL aQL 100000
52 xf]d :6] sfo{s|d 50000
53 City civil code  tof/L 50000
54 Ps j:t' Ps gu/ sfo{s|d 50000

55 Oltxf; ljb Pj+ k'/ftTj ljbx?;Fu ;xsfo{ u/L :yn 
klxrfg

50000

56 ;/;kmfO ;Ktfx 25000
57 df;' k;n cg'udg 50000
58 hg:j:Yo k|j{wg ;k{b+Zf tf/f3f/L 150000

59 kmf]xf]/ Joj:yfkg - kmf]xf/ ;+sng 6f]s/L  _ 100000

60 ;8s tyf 3/x?sf] d]l6«s k|0ffnL sfof{Gjog 50000

61 lgdf{0f ;fdu|Lsf] u'0f:t/ dfkb08 tof/L 50000
62 ljkb\ hf]lvd Go"gLs/0f sfo{qmd 100000
63 ljkb\ Go"gLs/0f sf]if 50000

64 cGt/ gu/kflnsf l;sfO{ u|x0f 150000

65 k'n b]lv cfo{3f6;Dd ;8s lgdf{0f 100000

66 ;fj{hlgs hUuf ;+/If0f 200000

67 gu/ kflnsf clen]v 8ofs DolkË 100000

68 /]l8of] tyf ;~rf/  k|aw{g sfo{qmd 50000

69 Knfli6s d'Qm cleofg sfo{qmd 100000

70 j}slNks phf{ k|jw{g ;fem]bf/L 500000

71 ljpm a}+s 100000

72 zx/L ljsf; of]hgf lgdf{0f 150000

73 p=p=jf=;+3 s6f/L cltly ;bg ejg lgdf{0f 100000

7417200.00

 k"jf{wf/ tkm{ dlxnf tkm{

1 kf]v/L lgdf{0f ul/ l;+rfO{ rf}kmfn j8f g+= ! 100000.00
2 gf/L pTyfg ejg 3]/fj]/f j8f g+= @ 100000.00
3 s'6fg lk;fg ejg lgdf{0f PSn];Nnfx j8f g+= # 100000.00
4 gfnf Joj:yfkg 3'ld{ sfp06/ j8f g+= & 170000.00

5
hxl8, l;Dn], j]txf, km'njf/L vfg]kfgL O{gf/ lgdf{0f 
qmdfut 

j8f g+= & 

130000.00
6 Ogf/ dd{t jnfxf÷emf]/fjf/L j8f g+= !) 50000.00
7 ;xsf/L ejg -l;dfgk'/_ j8f g+= % 300000.00
8 /rgf dlxnf ;d"x 3]/fj]/f j8f g+= ( 50000.00
9 pbo >L SofDk; ejg sDkfp08 jfn g=sf= 200000.00

k|:tfljt ah]6 ?= s}lkmot

ef}lts k"jf{wf/ 

hDdf

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn



1 l;nfO{ s6fO{ j8f g+= $ 50000.00
2 lszf]/ lszf/Lx?nfO{ k|hgg :jf:Yo tflnd j8f g+= ^ 50000.00

3
Rofpv]tL >[li6 dlxnf ;+:yf ;lxt RofË, x8}of, jlnof j8f g+= ^ 

100000.00
4 pkxf/ tyf v]nf}gf ;fdfu|L pTkfbg tflnd s6f/L * 100000.00
5 Psn dlxnf pBdlzntf tflnd j8f g+= * 50000.00
6 Psn dlxnf Rofpv]tL nfnk'/ -@ :yfg_ j8f g+= !) 40000.00
7 jfv|f kfng ;'s'Djf;L gofF 6f]n j8f g+= !) 80000.00
8 l;nfO{ s6fO{ ef]n]{ j8f g+= !! 100000.00
9 dlxnf :jf:yo :jo+;]ljsf -@) hgf_ g=sf= 100000.00
10 dlxnf !^ lbjl;o sfo{qmd g=sf= 55000.00
11 Psn dlxnf ;Ddfg g=sf= 55000.00
12 dlxnf :jf:Yo k/fdz{ u/fF; g=sf= 50000.00
13 dlxnf :jf:Yo kx'Fr÷cfsl:ds ;d:of ;dfwfg g=sf= 100000.00
14 dlxnf j}b]lzs ;"rgf af]8{ sfo{qmd g=sf= 50000.00
15 dlxnf lx+zf hgr]tgf sfo{qmd g=sf= 50000.00
16 dlxnf jfnjflnsf ;]n O{nfsf k|x/L g=sf= 200000.00
17 >lds dlxnf lbjz g=sf= 20000.00

1 jfv|f kfng vl;jf; j8f g+= # 70000.00
2 Psn dlxnfx?nfO{ jfv|f kfng j8f g+= ( 100000.00
3 Psn dlxnf 4f/f Rofpv]tL ltgtn] j8f g+= !! 20500.00

1 jly{ª ;]G6/ ;fdfu|L j8f g+= $ 50000.00
2 ;k{b+z -tf/f3f/L, j]n;f]t_ g=sf= 200000.00
3 xf]d :6] sfo{qmd g=sf= 100000.00
4 ;xsf/L n]vf tflnd g=sf= 100000.00

3090500.00
 jfnjflnsf tkm{

2 jfn jflnsf ejg lgdf{0f -rf}kmfn_ j8f g++= ! 100000.00
3 k|f/lDes jfnjflnsf s]Gb|nfO{ ;fdfu|L j8f g+= @ 50000.00
4 ;+ljwfgsf] wf/f #* jdf]lhd k|lzIf0f 50000.00
5 PSn];Nnfx k|f=lj= 3]/fj]/f j8f g+= # 100000.00
6 vfg]kfgL df]6/ lj:tf/ j8f g+= $ 50000.00
7 jfn ljsf; s]Gb| vfg]kfgL tyf 3]/fj]/f bbl/of j8f g+= % 100000.00
8 hxl8 l;Dn] lg=df=lj= vfg]kfgL 6\ofÍL dd{t j8f g+= & 50000.00
9 k|f=lj= j}/]gL ejg sDkfp08 jfn 3]/fj]/f j8f g+= & 100000.00
10 s6f/L ;fd'bflos k':tsfno jfnjflnsf ;fdfu|L j8f g+= * 50000.00
11 hgtf lg=df=lj= km'njf/L 3]/fj]/f j8f g+= ( 50000.00
12 d?jf df=lj= 3]/fj]/f j8f g+= ( 50000.00

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

k"jf{wf/ tkm{ 

;fdflhs÷Ifdtf ljsf; 

cfly{s ljsf; 

;+:yfut ljsf; 

hDdf ah]6



13 emf]/fjf/L jfnjflnsf vf=kf= lgdf{0f j8f g+= !) 50000.00
14 e'Ns] df=lj= vf=kf= j8f g+= !) 50000.00
15 hgzlQm k|f=lj= ejg 3]/fj]/f ltgtn] j8f g+= !! 75000.00
16 ej/L b]lj lg=df=lj= 3]/fj]/f v}/]gL j8f g+= !! 100000.00
17 nIdL jfn ljsf; ef]n]{ z}lIfs ;fdfu|L j8f g+= !! 50000.00
18 lrN8]«g kfs{ tf/f3f/L 1200000.00
19 xl/ofnL kfs{ u/fF; v]ns'b ;fdfu|L 250000.00
20 jfnjflnsf ;]n lgdf{0f 150000.00
21 l;:g]/L k|f=lj= 3]/j]/f 75000.00

22
k|ult jfnljsf; s]Gb| vfg]kfgL tyf 6\jfO{n]6 dd{t 

50750.00

19 /fi6«klt /lgË lzN8 50000.00

20
ljBfnonfO{ cfwf/e't z}lIfs ;fdfu|Lx? -@$ j6} 
ljBfnox?nfO{_ 240000.00

21 jfn lbj; 25000.00
22 jfn cltl/Qm lqmofsnfk 75000.00

23 ljBfno :t/Lo k":tsfno -@$ j6} ljBfnox?nfO{_ 240000.00

24 z}lIfs e|d0f jfnjflnsfx? 150000.00
25 jfn ljjfx ;r]tgf sfo{qmd 25000.00

26 lszf]/Lx?nfO{ k|hgg :jf:Yo sfo{qmd 30000.00

27 ljBfno zflGt If]q 3f]if0ff 25000.00

28 nfu' cf}ifw b'Jo{zgL ;DjlGw hgr]tgf sfo{fqmd 50000.00
29 jfn>d lj?4 cleofg 50000.00
30 jfn Snj Joj:yfkg 25000.00
31 jfnsf]if Joj:yfkg 50000.00
32 jfn jrfp ;"rs–!) 200000.00
33 jfn;+/If0f 140000.00

s_ % jif{ d'lgsf ;j} jRrnfO{ k"0f{ hGdbtf{ cleofg 

110000.00
34 jfn ljsf; 50000.00
35 ;+:yfut ljsf; 100000.00
36 l:yltkq lgdf{0f 50000.00
37 ;k{b+z j]n;f]t, tf/f3f/L 150000.00

4635750.00
!=  hghflt tkm{

1 5f]O{lnË u'Djf j]n;f]t 3]/fj]/f j8f g+= @ 50000.00
2 tfdfË lnlk j8f g+= $ 50000.00
3 ;+u|xfno ejg k'gM lgdf{0f j8f g+= % 500000.00
4 l8jf/xgL yfg sNof0fk'/ lu4j/ j8f g+= % 100000.00
5 ;fs]nf hfg] af6f] :t/ pGgtL j8f g+= ^ 150000.00

;fdflhs÷Ifdtf ljsf;

z+:yfut sfo{qmd 

hDdf ah]6

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot



6 u'Djf j8f g+= ^ 50000.00
7 cfO{tjf/] dlGb/ lgdf{0f j8f g+= & 50000.00
8 pBf]u jfl0fHo ;+3 ejg k"gM lgdf{0f j8f g+= * 100000.00
9 dxfb]j dlGb/ lgdf{0f j8f g+= ( 89662.00
10 bfndf]6, e'lhof tflnd -vfl8vf]k_ j8f g+= !) 50000.00
11 vfg]kfgL dd{t ltgtn] bg'jf/ j:tL j8f g+= !! 50000.00
12 k|f]kmfO{n 400000.00
13 66\ tflnd 150000.00

14
cflbjf;L hghflt Ifdtf ljsf; j8f :tl/o tflnd 

660000.00

15 ljZj cflbjf;L lbjz 100000.00

2549662.00

!= blnt tkm{

1 :jf:Yo ljdf clt ljkGg blnt -!–!!_ 100000.00
2 blnt ejg 3]/fj]/f 250000.00
3 blnt ljBfyL{ l8Knf]df sDKo'6/ tflnd 100000.00
4 l;nfO{ s6fO{ tflnd 50000.00
5 blnt j:tL vfg]kfgL Ogf/ lgdf{0f u/fF; j8f g+= $ 50000.00

6
5fuf 5]p d'xfg jgfO{ lzjfno 6f]ndf vfg]kfgL lgdf{0f j8f g+= ( 

50000.00
7 j]txf, l;Dn] blnt j:tL ljB't tf/ kf]n j8f g+= & 50000.00

8 vf=kf= kfO{k lj:tf/ ;r]tgf s]Gb| lu4j/ j8f g+= % 50000.00
9 blnt j:tL ;+/If0f t6afFw RofËf j8f g+= ^ 50000.00
10 Ogf/ lgdf{0f j]n;f]t j8f g+= @ 50000.00

800000.00
!= dw];L, d'l:nd÷lk58f tkm{

1
l;nfO{ s6fO{ tflnd  # dlxg] dw]zL d'l:ndsf] ljkGg 
ju{sf] nflu j]n;f]t, kf]vl/of, u'F/f;sf] nflu -Ps 
7fpFdf u/fpg]_ 

200000.00

2
Psn dlxnfnfO{ cfo cfh{gsf] nflu cfly{s ;xof]u ;j} 
jf8{sf] dlxnfx? 75000.00

3
dlxnf lx+;f Go"gLs/0fsf nflu dw]zL, d'l:nd 
dlxnfx?sf] hgr]tfd'ns sfo{qmd -s6f/L_ 75000.00

4
s6f/L ^,& / * df l;nfO{ s6fO{ tflnd dw]zL, d'l:nd 
ljkGg ju{sf] nflu 200000.00

5 hDdf 550000.00
!=  o"jf tkm{

1 v]ns'b ljsf; 300000.00

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

hDdf ah]6

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

hDdf ah]6

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot



!= ckfË tkm{

1 ckfËx?sf] nut ;+sng 100000.00
2 ckfË lbjz 25000.00

3 czQm, ckfËx?sf] nflu kl/ro kq ljt/0f 100000.00

4 ckfË ljsf; gu/ ;ldlt Joj:yfkg 25000.00
5 ckfË sf]if 50000.00

hDdf 300000.00

!= h]i7 gful/s tkm{

1 h]i7 gful/sx?nfO{ lty{ ofqf 150000.00

150000.00

 7'nf] k"jf{wf/ of]hgf )&$÷)&%

1 uf]nfkfs{ b]lv klZrd pRr df=lj= ;Dd ;8s lkr j8f g+= &

2 g=kf= b]lv rf]s x'Fb} uf]kfn /fO{sf] 3/ ;Dd lkr j8f g+= * 
3 lkkn af]6 b]lv pbo >L SofDk; ;Dd lkr j8f g+= & 

4 hxl8 sNe6{ b]lv l;Dn] a;kfs{ ;Dd hfg] ;8s 
9ngfnf u|fe]n 

j8f g+= &

gu/If]q k"jf{wf/ )&$÷)&%

1 8fs'/gfy dfu{ hf} jf/L x'Fb} b'D;] hfg] d?jfvf]nfdf k'n j8f g+= ( 

2 jnfxf ufpF ;8s lgdf{0f 9ngfnf tyf u|fe]n j8f g+= !) 

3 km\o"r/ af]l8{Ë b]lv gofF g=kf= ;Dd ;8s 9n gfnf 
tyf u|fe]n 

j8f g+= & 

4 /fO{6f]n cd[t 6fpg Knflgª b]lv 6fO{u/ lkmN8 ;8s 
lgdf{0f 

j8f g+= & 

5 vf]S;f b]lv lqj]0fL d]nf hfg] ;8s lgdf{0f 9n, gfnf 
tyf u|fe]n 

j8f g+= % 

6 jiff{bsf] kfgL ;+sng ug]{ kf]v/L lgdf{0f tf/f3f/L 
7 /fhfjf;, cD6fO{ b]ljwfk, x8}of l;+rfO{ lgdf{0f j8f g+= ^ 

gjLgtd k"jf{wf/ )&$÷)&%

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

hDdf ah]6

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

hDdf ah]6

hDdf ah]6

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

hDdf ah]6



1 gofF gu/kflnsf ejg sDkfp08 jfn lgdf{0f j8f g+= & 
2 rSsfjfnf 8f]h/, :sfe]6/ 
3 Vibrator Roller 

;8sjf]8{ )&$÷)&%

1 j]n;f]t, ltDgfxL ;8s !, @ 
2 u/fF;, vl;jf; ;8s #, 
3 jg sfof{no b]lv bzlju] x'Fb} ef]n]{ hf]8]g] ;8s j8f g+= !) 

4 gd"gf6f]n ;8s -t]h jxfb'/ dfemLsf] 3/ b]lv kfgL 
6\ofÍL hfg] ;8s 

j8f g+= & 

5 cD6fO{, tf/f3f/L, RofËf ;8s lgdf{0f j8f g+= ^ 

l;=g+= sfo{qmd÷ kl/of]hgfsf] gfd sfof{Gjog :yn k|:tfljt ah]6 ?= s}lkmot

hDdf ah]6

hDdf ah]6


